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; 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/mM%E#Z5 - -~ - — [3mZE#BZ D - ~ — — —
Fhst 1.00 | 0.00 ~ 4.11 51.50 | #0RAS | 000 ~ 411 204 10.94 Fhst 1.00 | 500 ~ 500 51.50 | #nst | 500 ~ 500 | 204 10.94
2 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/m%E#Z5 - -~ - — [3mE#BZ D - ~ — — —
Fhst 1.00 | 0.00 ~ 6.49 81.68 | #nust 000 ~ 649 1.81 9.68 Fhrlst 100|500 ~ 7.75 81.68 | #hust | 500 ~ 7.75| 1.81 9.68
3 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — | 100kN/mM%E#Z5 - -~ - — [3mZE#BZ D - ~ — —
Fhst 1.00 | 0.00 ~ 638 80.23 | #hust |0o0 ~ 638 1.76 941 Fhst 1.00 | 500 ~ 7.49 80.23 | #hst | 500 ~ 7.49| 1.76 9.41
4 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/m%E# 2z 5 - -~ - — [3mZE#BZ D -~ — — —
Fhst 1.00 | 0.00 ~ 680 86.02 | #nhust 000 ~ 680 1.77 9.46 Fhrlst 1.00 | 500 ~ 830 86.02 | #hust | 500 ~ 830 1.77 9.46
5 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/mM%E#Z5 - -~ - — [3mE#BZ D - ~ — — —
Fhst 1.00 | 0.00 ~ 686 86.80 | #nAst | 000 ~ 000\ 1.70 9.08 Fhrlst 1.00 | 500 ~ 8560 86.80 | #hust | 500 ~ 850| 1.70 9.08
P 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/m%E#Z5 - -~ - — [3mE#BZ D - ~ — — —
Fhst 1.00 | 0.00 ~ 638 80.32 | #nst 0o ~ 638|175 9.36 Fhrlst 1.00 | 500 ~ 7.50 80.32 | #hkst | 500 ~ 750\ 1.75 9.36
7 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/mM%E#Z5 - -~ - — [3mZE#BZ D - ~ — — —
Fhst 1.00 | 0.00 ~ 554 69.11 | #hst [ 0o0 ~ o000 1.62 8.69 Fhst 1.00 | 500 ~ 630 69.11 | #Fhust | 500 ~ 630 1.62 8.69
3 100kN/mMZ#8% % — - ~ - —|3m%E#BZB| — ~ — — — | 100kN/m%E# 2z 5 - -~ - — [3mZE#BZ D -~ — — —
Fhst 1.00 | 000 ~ 4.77 5940 | #nUS | 000 ~ 000 1.69 9.07 Fhrlst 1.00 | 500 ~ 500 59.40 | #Fhst | 500 ~ 500)| 1.69 9.07
100kN/mMZ#8% % ~ 3mEEZ D ~ 100kN/ mM%#8Z % ~ ImEBZD ~
Fhist ~ Fhst ~ FhList ~ Fhist ~
100kN/mMZ#8% % ~ 3mEEZ D ~ 100kN/ mM%#8Z % ~ ImEBZD ~
Fhist ~ Fhst ~ FhList ~ Fhst ~
100kN/mMZ#8% % ~ 3mEEZ D ~ 100kN/mM%#8Z % ~ ImEBZD ~
Fhst ~ Fhst ~ FhList ~ Fhst ~
100kN/mMZ#8% % ~ 3mEEZ D ~ 100kN/mM%#BZ % ~ ImEBZD ~
Fhst ~ Fhst ~ Fh st ~ Fhist ~
100kN/mMZ#8% % ~ 3mEEZ D ~ 100kN/mM%#8Z % ~ ImEBZD ~
Fhist ~ Fhst ~ FhList ~ Fhist ~
100kN/mM%#22 3 ~ 3mEBZD ~ 100kN/mM% 82 3 ~ ImEEBZD ~
Fhst ~ Fhst ~ FhLst ~ Fhst ~
100kN/mM%#22 3 ~ 3mEBZD ~ 100kN/mM%#82 3 ~ ImEEBZD ~
Fhst ~ Thust ~ Fhst ~ Fhst ~
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